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GUESS PAPER – 2007
Class – XII

Mathematics

MAX. MARKS: - 100





TIME: 3 Hrs  

GENERAL INSTRUCTIONS:

1) The question paper consists of two parts A and B. Part A is compulsory for all students.

2) Internal Choice is given in some question. In such cases attempt one of the choices.

                        PART - A

3)  a ) Question numbers  1  to  8 are of  3 marks each .

       b) Question numbers  9  to  15 are of  4 marks each . 

       c ) Question numbers  16  to  18 are of  6 marks each .

                            PART – B

4)  a)  Question numbers  19  to  22 are of  3 marks each .

       b) Question numbers  23  to  25 are of  6 marks each

       c) Question numbers  26  is 6 marks each

5) Use of calculator is not permitted, how ever you may ask for logarithms if required.

                                               PART-A

1) If A=
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, Show that A2-5A+7I2=0
2) Using properties of determinant, Show that 
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3) A card is drawn from a pack of 52 cards. Find the probability of getting a king or heart.

4) In a family the husband tells a lie in 30% cases and the wife is 35% cases. Find the Probability that both contradict each other on the same fact.
5) Form the differential equation corresponding to y2-2ay+x2=a2 by eliminating ‘a’.

6) Find the solution of the differential equation  
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                                        OR

      Solve :  
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7) Evaluate : 
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8) Evaluate : 
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9) Find   
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10) Differentiate log Sinx by First Principle.

11) Differentiate 
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12) Show that the following argument in valid  

S1: p(q    S2: ( q   S: p((q

13) Evaluate : 
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14) Evaluate : 
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15) Show that the curves x = y2 and xy=k cut at right angle if 8k2=1

                                  OR

       Show that    Tan-1(Sinx+Cosx) is increasing is (0, 
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16) Solve one following system of equation 2x-y+5z=5,  3x+2y-z=7, 4x+5y-5z=5, By using matrix method.

17) Find the volume of the largest cylinder that can be inscribed in a sphere of radius  r cm.

18) Find the area of the region 

              { (x,y):  x2+y2( 2ax,  y2 (ax, x(0, y(0 }
                                       OR

       Draw a rough sketch and find the area of the region bounded by the two

       parabolas y2=4x and x2=4y by using method of integration.

                                         PART-B

19) Using vectors Prove that if the diagonal of a parallelogram are equal then it is a rectangle.
20) Prove that   
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21) A thief when detected jumps out of a running train at right angle to its direction with a velocity 5m/min. If the velocity of the train is 36 km/h. Find in which direction the thief falls.

22) A ball projected with a velocity of 28 m/s has a horizontal range of 40m. What is the angle of projection?

23) Two forces act at a point and are such that if the direction of one is reversed, the direction of the resultant is turned through a right angle. Prove that the two forces must be equal is magnitude.

24) ABC is a triangle forces P,Q,R acting along IA,IB,IC are in equilibrium. If I is the in centre of (ABC, Prove that 
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                                                    OR

       Show that if each of two unlike parallel forces P Q (P>Q) acting at point A,B 

       respectively be increased by F, their resultant will not changed in magnitude but 

       but its application will move through a distance 
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25) Prove that the plane: x+2y-z=4 cuts the sphere x2+y2+z2-x+z-2=0 is a circle of radius unity. Also find the coordinates of the centre of this circle.

26) Find the S.D between the lines:-
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  and  
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